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Ü
bu

ng

D
efi

n
it

io
n

u
n

d
B

er
ec

h
n

u
n

g
vo

n

D
at

en
ra

te

K
ap

az
it

ät

A
u

sb
re

it
u

n
gs

-
u

n
d

Ü
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fü

r
D

d
ie

C
o

d
ew

ör
te

r
01

01
0

b
zw

.
11

01
0

ve
rw

en
d

et
w

er
d

en
?

A
00

00
0

B
10

01
1

C
00

11
0

D
10

01
0

D
’

01
01

0

D
”

11
01

0

A
B

C
D

D
’

D
”

A
X

B
-

X

C
-

-
X

Jo
h
a
n
n
es

M
or

g
en

ro
th

IB
R
,
T

U
B

ra
u
n
sc

h
w
ei

g
2
3

1
)K

o
m

m
u
n
ik

a
ti
o
n
sa

rt
en

2
)B

it
ra

te
n

3
)B

it
st

o
p
fe

n
4
)

H
a
m

m
in

g
-D

.
5
)

C
R
C

6
)

T
p
/
T

x
7
)

K
a
n
a
la

u
sl
.

H
am

m
in

g-
D

is
ta

nz

4a
)

W
as

is
t

d
ie

H
am

m
in

g-
D

is
ta

n
z

d
es

C
o

d
es

?

4b
)

W
as

is
t

d
ie

H
am

m
in

g-
D

is
ta

n
z

d
es

C
o

d
es

w
en

n
fü
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rü

b
er

pr
ü

fu
n

g
au

f
d

er
S

ei
te

d
es

E
m

p
fä
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hä
lt
ni

s

In
te

rp
re

ti
er

en
S

ie
d

ie
E

rg
eb

n
is

se
an

h
an

d
d

es
V

er
h

äl
tn

is
se

s
zw

is
ch

en
A

u
sb

re
it

u
n

gs
ve

rz
ög
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